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� %5$� /�� )$����� ���

�$,'��2���2���$�,��)$���� �/���� '$�00�� ����,��%���+� ���-�,*���,�� ������ )�$� �%%5$�

��$�'������$+��$�)�����$�'�����������'$�00������,��%�����**$�4�,��#���

�

������%$�$%���$�/%���-�*$��0$����������/��/�$�$�.+��4�))$��/����/�)��*��*��

$�%�����'����44��,�������'����$,$�.�����-/�,��%������*���$����%�)�$���$�

������ �%%����� �$� %$,$���$+� �$� %��4$�$+� �$� ,��)$�$� ������ %$��.�� 	�� �/��

�����������������������������������������������������������
�#�������4��U+�������
��	������������#�*�������#����+��$00��$+��$����+��##"+�'��"3��
�



�

� �� 

'��2�%�0$���� %�������+� $�� �/�� �$�'��00�� '��� ��� ���,�� ��� '������� ��

4���$���$�����

���	�� $�����*$��� �$2���$�.� ���� '/�C�**���$�� �� ��� �/�� �����,��

62$�$*$�$�.:����4�����8/$��$�/��4�%$����))������$���'����$����,�+�����

'������� 8/����� %��'$��$� $�� 8/����� ���$+� �$� %��%�� �$� /�$�$00���� ���

���,��$2�� 2$)���$+� ��%�$�������� $�� %5$�2�� 6���$I'/�C�**���$�:��

�,*��,��$%�� =� ��� �$)/����� ��� ��)$���0$���� $�� ,����$�� �$� %��$�

'��$%����$� G���$���0�� ���� �$�$����� ������ ���/��� ���� #9�#9"��1� ��

" 9�39"���+� ��)���,����� �$� ���$0$��(����$���$�H� �� %/$� �$� 4�� ��,'���

'$?� �$%����� '��� '/�$��� $� '/�C�**���$�+� �� ��,���� '��� �%���))$���$� ��

4��8/���������������%������$�������%$��.���

��������$4��$,����������%$��.��$�B���)��+������$�'/A�����,��0$������

�-�''��2�0$���� G%��� ���$*���0$���� %���$�$���� ����� ��� �#&&1�9��� ����

��9�"9"���H� ���� �/�2�� 6��)���,����� �$� ���$0$�� ��*���:�� $��

���$%��$,�� ��$� 2���$������ ���$%��$� =� $��/**$�,����� �$2����� ��

��'�$,���� �$�����,����� $�� 4���,���+� %�$,$���$00����� $� �����

����))$�,���$� �� ,��$� �$� 2$���� </����� '��2���� $�4���$� $�� �$2$���� 6�$�

��%%�)�$���� 8/���/�� ��� ���,��$��� '��� 8/���$��$� ,��$2�+� %�/������

�$��/�*�� �$� '������$:>� ���� ����+� ��� '/���� 1� ������ ������� ���$%���� �$�

'��$*$�%�� �$� %���/,���� ��$,���$� �� *�2����� �%%/'����� ��� '$�00�+� $�

'���$%$+�)�$���$4$%$�'/**�$%$��������)�$����)�$������$+��$��/�)5$��$�%/���+�

�$� �*$��0$��$� '�$2���:�� �$� �$�%5$�� $������� ��� ,/���� 6�� ����$���$� ��

��))$�������$������$���$/����������/������$�'���$%$+�'$�00�+�)$���$�$���

����$� �/�)5$� '/**�$%$:�� 	-���$%���� �$� %5$/��� �$������ $�� *����� )�$�

��$,��$+�$���$4��$,������$�%���/,$���$�'/�C�**���$��=��2$�����+�%���/��

�,*$)/��6�$2$�����$�/�$�$00����%/%%$��$+�4�,,$���)��2$����$���$,��$���

��$,��$�$��)��������$��'��%��$��%���$0$��$:���

������,�$����8/��%5������+���'���,��$2$� ��)��$������ ���2�)/���$������

��%����/�*���+�����/���$�.�������%$��.��$�B���)��+�4������$%�������%5��

�������$�,����$��5�����'��������$������������+������2����� �-�,$��$����

����4�)�$���$�2$���**�$)����$�+��/��$�%������%5�+�������$����%%�,'�)���$�



�

� ��3

���������%���+�%5$���2�����-���,��$���'������2$������%������������%/�$�

%��$+� )��0$�� ���-$����2����� �$� ����%$�0$��$� �$� 2�������$���� %5�� �$�

�%%/'���� ������ �/����� ��)���� ��$� ���0�� �$,���+� �$� =� �$/�%$�$� �� 4����

��%5$2$����/���/,����%���$��������$�'��%��$,���$�'����-�,$��$�����$�

4�)�$��$�2$����'����+� $�4���$+� $��,���� 4������$� ���0$������ $��%������'���

%5$������ �-���,��$��+� �2�2�� �����,$����� �-�22$�� ������ '��%��/��+�

,�����+� '��� �-�,$��$���� ���� 4�)�$�� �$� 2$�+� ����� �$%5$���$� ������ ��))��

'���/''���$� %5�� �$)/������� �N�44���$2�� �/��$����0�� �$� '��$%����$�.�

��%$���+� ��)�������/���%��%�����%�'�%$�.�%�$,$����+�,�)��$� ������/���

������'���$*$�$�.�%5��$����))����+���$�%��4����$�����8/����2$�����,�����

$�� '��22��$,����� �����$��$2�+� 6'����� %���$�/���� �� ���$�8/���� $�� /��

�����,$������/�)�:���������+�$����)$�������+�%��������))�����1" 933+�5��

,��$4$%���� ��� ��))�� ��� ��"19&!+� %�,,�� �+� ����� �+� '��� %/$+� ��$�

%��4����$� ��)�$� 6�0$��$� ��2�)�*���$� �*$�/��$+� 2��$�$� ��� ��2���:�'��� $��

�����4������$��������$��8/�����%���$0$���+�����'���������������,���$�$�

4�)�$��$�2$����

�����8/����������$��$��%��%���6���%���$2�:��$�'/A�'��2������,'���%���

6��� */���:�� /�� '��)����� '����%$����� ����-
����������� ����� �$%/��00��

��*���� �$� B���)��� 5�� ,����� �� �$�'��$0$���� /��� ���/��/��� $�� 0����

'��$4��$%�� ����� �%�'�� �$� 6�'������� $� ����� *$2�%%5$� 4/��$� ���� %������

����$%�� ������ %$��.+� %��� $�� 4$��� �$� �$�/���� �-�����,�� ��%$���� ��)�$�

�*$����$:�#"��

�����%��;��$�,���$'�$%�������,�0$��$+����K$���0��������2�+������,����

�����+�'���������������8/���$���'$�$�$����$�����$���$�%����$�����$%$�������

%$��.� �� ��� ,��$2�0$��$� �������� ����� ��,'��� ��� ������+� 8/��$� ��,'���

'�$2�� �$� /�� ���$��� 4����,����� )$/�$�$%��� �� ����2�� ��%����� /��

%���$)�$����%�,/�����6$����$����$�%��%�����$�����/�%$���'����������'���

8/����� %5�� =� ��,�$� �$2������� ��� '�/��� �$� $�%�������$:+� ,������ /��

�����������������������������������������������������������
�#"�
��$%��������$,�+���'��$*$����/��5��'�99@@@�%����$�%%�)�$��0��$���
�



�

� ��#

%���$)�$���� �$� ������ $�2$��� ��� �$/���� �� ���2���� /��� ���/0$���� ���

'��*��,��'/�C�**���$��$����,������6��%���:��

�

�

�

#0'0����
�	���
�

�

���	�� ��%����� ������ ���� �$'���)$�� $�� %/$� 5�� 2��/��� �/��$2$�����

�-�����)�����'�����,����$����0���$,����=�8/�������$�,$)����$+�'������

,�))$����0��'��2��$���$����'���$�$��2$���$��2$�/''�+��'�����$��%��%��

�$� /�� �%%/'�0$���+� �� '�$2$� �$� /�-�*$��0$���� �� �$���,��$� $�� ����))$�

'��%��$�������$,$���������2$2$*$�$�.�����)�/''��%��;�$��$2$�/����'�������+�

��,$�� �22$��+� %�������$��$%5�� '��4����,����� �$2����� ��� 8/����� ������

%�,'������� $���$���� ��$� ���0�� �$,���+� '��� %/$� ��� 2���� ��� '���� /���

%���$����0$������'�������

�����$� $,,$)���$� �L���%�,/�$���$� ��''���������� /��� %�,'�������

������0$����������'�2���.������,��������-��%�/�$�����*$���$2��$������$�+�

��%5�� ��� %���,����$�.��� %�������$��$%5�� �'�%$4$%5��%5���$44����0$����

���$���))���$�����������$'���)$���$�'�2���.������,���

������ ��,�������� ����0$���� ���� ��� %���$0$���� �$� $,,$)����� �� 8/����� �$�

���0���$,���� =� ������ �� �/�)�� �����2��/����� �� 4����� �))����� �$� ��/�$��

����� ���� "��"+� 8/����� ��� K���'��� GK�����0$���� ����$���� ��)�$�

��)��$�,$� '��� ��� '������� ���0�� �$,���H� /�-����%$�0$���� %5��

'����)/�� 4$���$�.� �$� ���$���$��.� ��%$���� ����-�,*$��� ������ )��2��

�,��)$��0$���� ��/���� �� ������ '������� ���0�� �$,���+� �/� $�%��$%�� �$�

K�

��
+� 5�� �������� /�� ��''����� �/��-$�%$���0�� %5�� $�� 4���,����

,$)�����$��5���/$����2$0$�%5���$��%%/'�����$�'����������0���$,����#1��

������ ,��%��0�� �$� $�4��,�0$��$� '��%$��� �� )$.� '/**�$%���� �/� 8/�����

��,���'�%$4$%�+� ���K���'����5����%$����$�%�$�2��)���� $��/�$�����%$��$�

�����������������������������������������������������������
�#1�K���'���+�������� �
���������
������ �����
����"���
��
��� �
���������+���'��$*$����/��5��'�99@@@�4$�'�����)��
�



�

� �"�

��)��$00����� /�� )�/''�� �$� ��2�����	�� %$��.� $���$���� ������ 8/��$� �$� =�

�2������-$���)$���%����%$�$2��������B��$+�B��)�,�+�B��0���+�	$2����+�

�$����+� ��,�+� ���$��+� �%����� %�,�� %�,'$���� �$�'��������

�-�����)���$�.� ������ �$,���$���+� ������ '��$0$���� )��)��4$%�+� ������

�$)�$4$%��$2$�.����� 4���,����� ����)�/����$�8/����� %$��.+�/�� ��4�������

��%����5����%%��������$�4��,�0$��$�$���/���������)��$00�0$��$�'/**�$%5���

�� ���� 2�������$���� %5�� �$� �%%/'���� �$� ���0�� �$,����� �� ���$� ��%%���$�

����� ����$� 8/$��$� ���$���$� ���� '��4�� ���$� �� 4����� ��� �/''����� �����

�$4����$��$�%�����/���������''�������

���
�����/�$�$�$�4��,�0$�����/����,���$�'��������$%�2��������6��''�����

�/����'��$�$%5��%���������'�2���.����-��%�/�$������%$���:������"����#���

��� '�$,�� ����+� '��2��$����� ��� 8/���-/��$,�� �$%��%�� �$)/����� ���

%���$����0�� '��%���/���� ������ %�,'������� $,,$)����� ���� '�����,��

��$� ���0�� �$,����� )�$� �����$��$� ��''���������**���� *��� $�� �&+!T�����

������+� ,������ )�$� �'��$�$� ��� �+!T�#&�� 
�%5�� $� ���$� ������ �$%��%��

%�������� ��� K���'���� %��4��,���� $�� ������0�� 8/���$� �/,��$�� $�

�$�/����$� �,���$� ������ ��/�$�� � $��$%���� $�4���$� %5�� $�� #1T���$� ���2$0$�

'��� ���0�� �$,���� $����'�����$� ����$���� �$� �%%/'���$� �$�� �$� /����$�

$���$��$� �$�� �$� ,$)����$>� $�� �/,���� ��)�$� /����$� ,$)����$� =� ,�����

2��$�*$��� ���-$���������$� ���2$0$�,�+� '��� $�� �1T��$� 8/���$+� $�,$)����$�

��''����������'$?�����&�T�������'��'�$��/���0���

����$�����'��%�0$������)�$��'������$+��$��$����$���%%���$�%��4��,����%5��

�-�44�/�����$� $,,$)���$� ��$� ���2$0$�'��� ���0���$,���� =�)������,�����

�/,������� ���� %����� ��)�$� ���$�� ��� /��� ��/�$�� ���� �##"+� $�,$)����$�

%���$�/$2�����''���� $���&+#T���$� ���0���$,���� $�� ����$��#!+� %������ $��

�&T��$��))$��

��������$4��$,�����������$%��%���/$����2$0$+�����$��2�0$��������$)/������$�

4��'$?�%�,'�������$������$�+�$�4���$+�$��4���,����,$)�����$��=�'$/�������

�����������������������������������������������������������
�#����,,$��$�����$�����)$����/��-��%�/�$������%$���+�
���������
�#&��*$��,+�'���&���
�#!���$2���$�.�����$4$%$�������$���+�$���
�����������������������+��$%��%��%�,,$��$��������������,,$��$�����$�
$���)$����/����'�2���.�����������$���0����������$)�$����$��$�$���$+���,�+��##"��



�

� �"�

��%����� �� ��%5�� $� ���2$0$� '��� ���0�� �$,���� ����� ���$� �� %���%$/�$�

'��2������,���������%�������)�$�/��$,$��$�%$����$������8/�����$�������

%�����/���������''������$�K���'�����/����2��$�0$�����$�/����$�=��$4��$���

�)�$� /��$,$� %$�8/�� ���$� �� '�������� /��� ���$�� �$� ���,���$� �$� *����

%�,/�$�� $�� 1�T� ��$� ���2$0$� $����'�����$� �$%5$���� %5�� ��� �$�/�0$���� =�

���*$��+�,������ $�� !"T� ��$� ���2$0$� $����'�����$� ���/�%$�� /�� �/,�����

����-/���0�������$������$����2$0$�'������0���$,����# ���

���
''/��������%���$����0����$��������������%�,'�������$,,$)����+�%$A�

%5���,��)��%���,�))$�����2$���0����$����$�4�/�����������$%��%5��=����

�$2���$�.���������������������,����$�.���$���,'$���$����0���$,����$���$��$�

��8/���$��$�$,,$)���$��

��������$�)������$+��$4��$�$���������,*$�$�)�/''$+� $���$��$�����$,,$)���$+�

%$�'��,��������$����$�������/���$2���$��$'$��$���))���$����0���$,���+���

'���$��� $����0$�/���� ����-��.�� )�$� $���$��$�5�����/�-��.�,��$�� �$� �&+&�

���$+�,������)�$������$��$�5�����/�-��.�$�4��$�����$�������$�G1�+�H�#3������

���
''����%5$���+�8/$��$�%5���������$��%������8/��$��$�4$�$�%��'���2$2����

$���������������$2����������%������)�$�$���$��$��$���������$�/��4���$,�����

����'��'�$��'��)������$�2$��+�%��%�������$�$����.������$2�,�����,��/��+�

,������ ���� %���� ��)�$� �����$��$� ��� %���$0$���� �$� ���0�� �$,���� =�

%5$���,����� ��)���� ��� /��� 4���+� 8/����� $�$0$���+� ���� '��%�����

,$)�����$��� </����� �$��$�0$���� ���� ���$�����$�� 6$���$���:� �� ���$�����$��

6�����$���:� =� '��*�*$�,����� ���,$)�$���� %5$�2�� �$� ����/��� �$� �/���� $��

4���,���� �� �$2����� ��0$������� ��4���$+� �$� �����2�� /��� %5$����

%������0$���� � %��� ��� �/����� ������ %���$0$���� �$� ���0�� �$,����� 
���

%������$���))���$��$���0$����$�.�$���$���+�����/�����������%���$0$�����$�

���0���$,����=��**�����0��2��$�*$��+�%���%$�%�����,��.�������'�������

%����������%5��2$2��'�������������,�����$��������$����-������,��.�%5��

$�2�%�� =� $�� 8/����� %���$0$���� ��� ��,���� 8/������ ���$�� </��$� /��

�����������������������������������������������������������
�# �K���'����������� �
���������
������ �����
����"���
��
��� �
���������+��'��%$���'��"+���'��$*$����/�
5��'�99@@@�4$�'�����)��
�#3���,,$��$�����$�����)$����/��-��%�/�$������%$���+�
�������+�'���&���



�

� �""

8/$���� G� +3TH+� /��� 8/���� ,����� �$)�$4$%��$2�+� =� ���0�� �$,���� ���

��,�����$�%$����$�##��

���	���/�����������%���$0$�����$����0���$,��������%������)�$������$��$�

�/))��$�%��/�������/����$2���������4�����%5�����)������,�))$����0���$�

���$��**$��%�,$�%$������%���/����8/�����2$��� $�� ��,'$� �����$2�,�����

��%���$+�����������8/���$��������'$?��$�8/���������$+�=���)����������$������

%5��)�$� $,,$)���$� ����� $��)������$�,������� $��)$�%��'��� �/'������ ���

����� %���$0$���� �$� �$��)$�+� �� ���%$�� $��������� %5�� '��� ,���$� �$��

'��2��$*$��� /�� �$�����+� �� /�� ���$2�+� ����� 6���,��$�.:�� ���� /��� '�����

�$��2�������)�$������$��$����0���$,���+���%5���������'����/��$+�$��4�����

�$���������$����$���,�0$��$������,�,�����'��%��$��%���$�/$�%�+���2����+�

/���%���$0$���������$���$���������2$�/''������'��)�����,$)�����$���	��

'��%��$��.� $�� 8/����� ������ '/A� �$)�$4$%���� /��� �$44$%���.� �$�

$����$,����� ���� ����/��� ��2����$2�� �� ��%$���+� ,�� %5�� $�� '���'���$2��

'����**�� ������� �$������� </����� ���� ����))��$�%�� ��� )��2$�.� ������

%���$0$��$� �$� 2$��� �$� 8/����� '������+� %5�� �$� ���2���� �� ����%�������

'��$��$� '$?� �� ,���� �/�)5$� $�� %���$0$��$� �*$���$2�� �����,�,�����

�$44$%$�$� �� %5�� $��$�/0$����,����� �����)���� �����)�$�,����� �%���$�� �$�

'����**��4������00���������%��%�/�����%5���-$,,$)����+�$����%/�$�%��$+�

���/,�� %����'�2��,����� ��� %���$0$���� �$� 6���0�� �$,���:� %�,��

�$�%5$�+�/��%����+�/���4���������$���$������'��'�$��'��)�����,$)�����$�����

������������������%5��$������������$2������$������$���/�$������'�'���0$����

�����$���� ��$� ���0�� �$,���� 5�� /�� �$2����� �%������ �����,����� '$?�

���2���� �$� 8/����� $���$����� 
���������� )�$� $,,$)���$� %���$�/$�%����

�''���� $�� �&T� ����-$������ '�'���0$���� ��$� ���0�� �$,����

��''����������$��!1+!T���$���/����$���$��1#+�T���$��$'��,��$��	��,��.�

��$� ���0�� �$,���� �����$��$� =� �$� �%����$�.� ,��$�I

�/'��$���9/�$2���$���$��� </����� %�������$��$%�� �'��� ����� ,�))$��$�

'���'���$2�� �$� /�%$��� ������ %���$0$���� �$� ���0�� �$,���� �� ����� �������

��,'�� %���$�/$�%�� /��� '��2�� ���� 4����� %5�� )�$� $,,$)���$� ����� /���

�����������������������������������������������������������
�##��*$��,+�'���&���



�

� �"1

4��0�� ��2���� 8/��$4$%���+� ��%$��,����� �����,$����� �� $����$��$� ������

��%$��.�$���$�����

�������8/������$)/�����������2��$�*$�$��$)�$4$%��$2�+��$������2��/���������

�$����/���)������,���������$�4�%����"��+���%5������$,$����������'�$,��

4��$� �$� '��,����0�� �/���� �������� �''���� �$4���$� �������+� ���� %���� ��$�

,$)����$+����%�,'������������$��)$��'�$%5$%��������0$�����+���%5�����

=� �$��2�*$��� /�� %����� �/,���� �$� ���0�� �$,���� $,,$)���$� %5��

,��$4�������%5$��$���)���$��$��$'�����0�����������0��'�$%����'����

�����4$��+����$44����0����$� ���0������� $���$��$+� $�,$)����$�'������� 4����

�$4��$,����� �� 4���$� ���$� ����0$����$+� 4��,��$� �� $�4��,��$+� ��)���� �����

%�,/�$�.� �$� �''�������0��� ���� �$4��$,����� ����� ���$� �$� ���$���$��.�

4�,$�$���+�������$�� �T���$����0���$,��������5��'���$*$�$�.��$�%5$������

/���$/�����/��4�,$�$�����������,����������T�'/A��$2��)���$���'$?��$�

�/��4�,$�$��$���/�8/�����'$��������$44����0������$���$��$��������$��$�����

�''�$���� '���$%����,����� �$)�$4$%��$2���
��� %���� $�2�%�� ��$� %������$�

%��� �,$%$+�,���� �$� /�� ���0�� G1"+�TH� ��)�$� �����$��$� ����5�� ����/��

�,$%�� ��� 8/���� %5$������ �$/��+� %������ 8/��$� ��� ,��.� G� +1H� ��)�$�

$���$��$"�����

���	�� ,�))$���� 4��8/��0�� %��� ��� 8/���� )�$� �����$��$� $��������)����

����0$��$� �$� �,$%$0$�� 5�� ���0-������ �� %5�� 4���� %��� ��� %���$0$���� �$�

$,,$)����� %5�+� '���������,����+� =� 4�2��$��� ����-��$����0�� �$� ���$� �$�

���$���$��.��/�*�������$%����5$����$2�������������'����+������)�,�����

�� 8/����� �/%%���2�� �)�$� $���$��$� 8/����� �,$)��2���� 2����� ������

��)$��$�����0$��$+��������4��8/��$�,�$� $��,����$������+�,��������/��

�$���,���$� ����0$��$�%5��4���$�%�� $�4��,�0$��$����$/�$��
�%5��%������

%5�������%�������$���2$2����'���������+�8/$��$+�'�������%��������/�/���

����� '$?� 4�%$�,����� ��$� ����� �,���)5$� $���$��$+� %5�� 2$%�2����� '��� ���

'$?� ����� ������$� ������ %���$0$���� �$� ���0�� �$,���� �� ,��$2�� ������

�����������������������������������������������������������
"������$��������$���+�K����0$����������%��+������
���������������+�K����$����$+��'��%$���
�
"�����,,$��$�����$�����)$����/��-��%�/�$������%$���+�
�������+�'���&"��
�



�

� �"�

����/��+� �� �����0�+� ������ ���$� ��%$��$� '�$,��$�� �� $�4��,��$�� $�� �"+3T�

��)�$������$��$�5��1���'$?��,$%$��$�8/��$�%5$������/���,����$��%�����$�

��%���$�.���

���</���������0$��$������4����,�����$����������'��%57����$%/�����/���

������ �$� �����)��� %5�� %�������� ��� ,$)������ �$� ���� �'��4������� ����

*�������������2$����/�����������,����%5��'��%57������2������������0$��$�

�44���$2��%$�%������/������$���$��$�����+�%���$�/$����$������$/�$��$����/���

�%���,$%���$������''���/�$�.�'$?�$��)���������$�,$)�$���������'��'�$��

%���$0$�����
���=�$�4��8/�����$�4���$�%5��$,,$)���$����*$�$�$�$�������$�

$������$���$���)��$00$���'�������$���,�0$��������))$��$2���$�%������%5�+�

�''����)$/��$�$������$�+��$�/��������%�/�$�����-�*$��0$������������$�%��$+�=�

�$�%�����*$��+� $�2�%�� /��� ���$�� �$� ��'��$��0�� ��%��$+� $�� %/$� )�$�

�
������� �''��������$��������,$�����%�,/�$�.������$���+�5����������

�/�)�� �� 4��,�� %������$2�� �$� ,�*$�$��0$���� �� �$2���$%�0$���� ��)�$�

����))$��������$�$���������%���"�"�� ���������'�����+�,����������%������$�

���0�� �$,���� $���$��$� �$� �����2�� /�� '��%����� �$� )���/����

$,'�2��$,����� %/��/����� �� �$� '���$��� ����N� $����$�.� ��%$���+� ���� %����

��)�$� $,,$)���$+� ���'�����0���$�/������/��/�����%$�������$�/���%/��/���

%���$2$����$��$4��$,�����5��%������$�������2$�/''���$��$���%/���4��,��

�$� �))��)�0$���� � �� �$� �$2���$%�0$���� '��$�$%�+� �/� *���� ��%���� ��

��0$��������

�������8/������$)/�����$�4$���$��)�����+�)�$�/����$�$,,$)���$���$����2$0$�

'������0���$,��������+�����������)������,�))$����0����$�%��$+�/�,$�$�

���$+� $� ���$� �/))��$�%�����$4���$� %5�� $�� #�T���$� ���2$0$� $����'�����$� �$�

�%%/'���$�/�,$�$���/��$����$��</�����������2$���0$����%/���������0��

��)���� ���-$,,$)��0$���� 4�,,$�$���� ��� '�$,�� ,������ %5�� ��� �����+�

�'����+����$2���� $�� ����$��'��� �$%��)$/�)���$����,��$������$� 4�,$�$��$+�

�����������������������������������������������������������
"�"�
��$2�������%�����$�'/A�%$������-
%$�'�G
���%$�0$�����$����$�$��,,$)���$��$�
��00�������2$�%$�H�%5������$����2$0$�
�44���$�'��2�����-�$/����������$%��%��������%���>�,���������$2�������0$�����+�,��������$2������-�,*$���������
�$���,�0$��������))$��$2��'���$�6�/�2$����$2��$:+�=��-����%$�0$����6����%%�����$�,�:�%5������'��'�$������/��+�����$�
4$�$���%$��$+��'��2������'�����,�����8/������$�6�$/�����$�%����0$����$�������$%��%���$�/����2�������*$��+�����N����))$����
�$�8/�������������%�����$����)�����$���/���$)�$������$2������$�2$��:��
�



�

� �"&

8/����� ��� �$�/�0$���� ��2����$2�� �� �*$���$2�� =� ���*$��>� '��� ��� ������

$,,$)����������G�'�%$�����'�������'��2��$���$�����-
,��$%��	��$�����

����-�����/��'�H+�/�����,�����)���������$)/�����$���$'���$���2����%5��

�2��)���� $�� ����$�+� ���$�� 8/����� �$� 6*�����$:� �$� '������� ��0$���+�

����%$����� ��� ��2���� ��� '���$*$�$�.� �$� /��� ���$����0�� �*$���$2��� 	��

������+� $�� ���,$�$� �*$���$2$+� �$)/����� $�� '��*��,��������'����$�/0$���+�

$�� 8/����� ��� ���/0$���� �*$���$2�� =� ���$%/����� ������ '������� %5�� �$�

6�%%/'���:� �$� 8/����� �����+� ,������ $� ���2$0$� �$� %��������� ���

4���,���� ����� �'�%$4$%$� '��� 8/����� �$'�� �$� '��*��,�� �� �$2���$� ���

8/���$�'������0���$,���"�1���

������ %��%�/�$���+� �$� �����2�� 8/����� �$�� '����������� ��� �$�/�0$���� $��

%/$��$����2����,���$�$,,$)���$+���'����/�������%��4��������������������.�

���������$������'����0$��$����4���$��-��.���$�$)����$��$�/����%�������,�����

'$?�*������$�'����������,��$��������'�������$���$����%5���44�/$�%�����$�

���2$0$�'������0���$,���"��+�%����%�����$�8/��$���,'���������4��%$��$��

%/$� ����**�� ����� '���$*$��� �%%������ ���0�� '���$%����$� �$44$%���.� ���

,��%����������2�������������*$��0$���+���������,�����$��)������$�4����>�

$�����������5�����'�����)$�����$���������,$�����/��4�����$,'������/����

���/��/������$���$��'/**�$%����

�

�

�������1�����������������������#��
�������������

�

���K����� 8/����� '��%$��0$��$� �� %��������� )�������+� �''���� ��%�����$��

$��/������� ��%/��� �$44����0$�0$��$� ��$�����$� ���� ��� �$2����� %�,/�$�.�

���$%5�+�$�����$������-��%�/�$�����*$���$2��)��2�����������%%5���$����0��

4$�����$,�����
�8/������$)/����+���%/�$����$� $����������$�'��2��)����

��� /��� ��/�$�� ����$00���� ������K����0$�����$%5��/%%$� �$�K$���0�+� ��

�����������������������������������������������������������
"�1�K���'����������� �
���������
������ �����
����"���
��
��� �
������������'��%$���'��!+���'��$*$����/�
5��'�99@@@�4$�'�����)��
"�����,,$��$�����$�����)$����/��-��%�/�$������%$���+�
�������+�'���&���



�

� �"!

�����$2�� ����� %���$0$��$� �*$���$2�� ��)�$� $,,$)���$� �L���%�,/�$���$�

��������)$�������%���"�&���

����$� �2$���0$���� %��;� ���� �$'���)$�� )������$� �$� %���$0$��$� �*$���$2���

)��2����%�/�$�����*$���$2�+��$��)$���*$���$2�����$�/�0$��$�����))$��$2��

�%%����*$�$��

����$������������'�$,��)�/''�� $�%$����$�$�'��2��$���$���������,��$�+�

����-
�*��$�+�����-�LIF/)����2$�+�)�$���*����$�����R���2����$���))���$�

'��2��$���$� ��������%%���	�� '��%�0$���� ��$� ���2$0$� �� $� ���$� ��%%���$�

%��4��,����%5��)�$� $,,$)���$�����I�4�$%��$� �����������/�$�$00���� ���

�%%�)�$��0�� ����/���� G���,$���$H� ��+� $�� */���� '��%���/���+� ��%5�� $�

���2$0$� �$/��$+� ��� ,����� �� ��� /�$�.� �$� ������>� 2$%�2����� ��� '�������

����-�����/��'��/�$�$00������'����/�������,��������$�%����$��$/��$������

)�$� ��*����$� '��,��)���� )��2$� '��*��,$� ����)$��$2$+� ��'����/���� '���

)�$� $���)����$� �� $� %�������$�$>� %�,�� �$���,�0$��$� ����))$��$2�� �����

$�4���$� '��2�����$� ��� �$�/�0$��$� �$� �%%/'�0$���� �$� �''����,���$+� %����

�**��������+� ��$4$%$� $��/���$��$� �$�,���$+� *���%%5�� �/��%����/$��+� ���

�$���,�0$���� '������ �$'��$� �%%��$����$�� ��� ����$� %��$+� �$� �����2����

�$�/�0$��$� �$� ��2��44����,����� $�� ����))$� ��'��$�$� �����2����� %�������$�

�$��44$�������/���4�������$�+���$'/���$����%����0$����$���

�����$���*����$�����R���2��'������$�$�����%���+����-�'�%���������$%��%��

�$%5���%%$+���������$,��$�����-���$����$�"I1����/�$�.+���$�8/��$���%/�$�

������ )$�2��$� $�� 4/)�� ���� ���2$0$�� �$� ��2�� �**�$)����$��� 
�%5�� ���

��%/�$� �$� ����� ����))$�2���� $�� �''����,���$� $�� �44$���+� ���� ,�����

4��8/���������$���,�0$�������-�'�������$���$'��$��$�4���/�����

�������8/����� �$)/����� $� %$����$�$���������%%�+���)�$�/��$,$����$� �$� =�

��)$������� /�� ,$)�$���,����� ������ %���$0$��$� ����))$��$2�� �$� �����

%�,/�$�.+� ��%5�� ��� '��2���� ��%���� /�� 4����� �$��)$�� �*$���$2���


���2���� ��� '�����0�� �$� ,���%%5$�$� ��)�$� ��$�$� ����/��$� �� ��$�

���,$���$+� %��;� %�,�� �-�%%/'�0$���� %�������$��� �$� ��$4$%$�

�����������������������������������������������������������
"�&�K����0$�����$%5���%%$+�����
�
�������
���� �
��9��������
��������������� �
������0
�����+�
�)���������%��*��$�
��$����+�K$���0�+��##!��



�

� �" 

�**�������$� � �� ������ 4��,�� �$� ����))$�� $�� %���$0$��$� �$� )��2��

�,��)��0�� $)$��$%�I���$���$�� G�
#�
����+� �/��,�*$�$+� *���%%5�� �%%�H��

(���$��2�����/���2$��%5�����$����/0$��$�����))$��$2��$,'��'�$����������

���$,$�/$��+���4�2�����$��$���,�0$��$�'$?����)/���+�,�����������������

'��%������,����� �%%/'���� � �$� �����2�� $�� 4���,���� ������ 6����0$����

'��� 4��$� �/%%���$2�:+� '��� %/$� $� �$'��$� $,'��'�$� ���%$��$� �$*��$� ��$�

'��%�����$� 6$�8/$�$�$:� 2��)���� �%%/'��$� ��� �/�2�� ������� �$�

$,,$)���$+�$��)�������$�'��2��$��0����*�������

������� $� %$����$�$� ����-�LIF/)����2$�+� '��,���� /��� ������ �$� )��2��

�$��)$�� �*$���$2�+� �����,$����� $�� '����� ����-����%$�0$���+�

����-$,,�)$���$�� %�,/��+� ��$� '��4/)5$� %��� )�$� 0$�)��$�� 
� 8/�����

�$)/����� 2�� �$��2���� %�,�+� ��� '����� ������ $��$�/0$��$� '/**�$%5�+� �����

%��%���$���� ���� '��,����� �$� ��))$����� '��� ��)$��$� /,��$���$�� ����

�$���� ��)/$��� /����$��$� $�$0$��$2�� �$� �%%�)�$��0�� G,���� ���� �T� ��$�

'��4/)5$� 5�� �����/��� /��� �$���,�0$���� ����))$��$2�� ������ �/���$�.�

��%��$H��

�����-������ %�,/�$�.� �����$���� ��)����� ��� )��2$� 4��,�� �$� ��%�/�$����

�*$���$2�+� ��%5�� ��� ���� $�%�/��� ������ ��/�$�� ������ K����0$����

�$%5��/%%$� =� 8/����� �/,����� ������ $�4��,�0$��$� ��%%����� '������ ���

���$�����$�%��������������$���$�+�$��/,��$��''�$����%�,��/��)�/''���$�

$,,$)���$� ��� ����� ��'�$2�0$���� �*$���$2�+� %��� /��� 4����� %�,'�������

$������� �$� ���0�� �$,����� 
�� ���,'$�� ��$� ���$� �$)/������$� /��

%�,'$�����$��&#��$,,$)���$��L���%�,/�$���$�%5��5������$���2��������

�##&� ��� �������� ���$���� '������ $�� ������� �����$��$� �$� ��,�+� �$�

�2$���0$�� %�,�� $� �/�� ���0$� ��$� �/,��$� 2���$��� $�� )��2$� %���$0$��$�

����))$��$2�+� �$���,�����$� $�� ����))$� '��%��$� �� �$� 4���/��+� $�� �����

'��$4��$%5�� �� ��)������+� ���� %/$� $� ��'��$�$� �$� �4��%$�%����00�� /*$%��$�

��$� 8/���$��$� '��$4��$%$� ���� ���$�$��+� �������$��+� ������$��� ��

�����%������������ $�4��,�0$��$� �� �$�'��$0$���� ��,*��� %5�� $� �/,��$�

�$%������� ��� ,��%���� ��)�$� �44$��$� ����� '��� '�%5$� ,��$� �-����+�

������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
�



�

� �"3

'�$2$��)$����� �����'��$+� *���%%�'��$� �� ������ ���/0$��$� �/��I

��)��$00���+�,������%$�%��/��8/������$����$�2$2���%%��������'�����$���

�,$%$"�!���

������ 8/��$� ����� ��� ��)$��$� ����-��%�/�$���� �*$���$2�� ������ '�$,��

4��%$�S���$�$,,$)���$�$��8/���$�������$��'���$%������8/���$�'��2��$���$�

��$�'���$�������4��%$�������4�$%���+�5�����/��'��)�����,$)�����$��'$?�

'��%��$�+� ���2����� �����,$����� ���� ��,'�+� �'����� ��)����� ��� �$����$�

'��$��$%$� ��� '����� �$� ��$)$��>� $�� 8/����� %���� /��� '��22$���$��.�

�*$���$2��=�'$?�%��������%���$��*$��)�����'�����������)�$�$,,$)���$����

8/����� ������� 0���� )��)��4$%�� %5��5����� /�� '��)����� '$?� ��4$�$��� ��

�/���/��+� $�� �$��)$�� �*$���$2�� �$'����� ��%5�� ���� '��)$/�$0$�� ��$�

'��'�$����$��$�����))$+��$44/���2������/��$�)�$�$,,$)���$�,�+�4����+�'$?�

4����� ��$� ����� %��4����$� �$�'����� ��� $,,$)���$� �$� '���$� �$2���$�� ���

'��)$/�$0$�� %5�� �$� ,��$4����� %��� ��� ���� �$�'��$*$�$�.� ��� �44$������

�*$��0$��$� �)�$� $,,$)���$+� ��%5�� ��� %��� '��,����� �$� ��))$����� $��

��)���"� �� ���� 8/����� �$)/����� )�$� $,,$)���$� ����-���� �/��'�+� %$�

���2$�,�� �$� 4������ ��� /�� �44�/���� $�� ����$�� $�� ��,'$� '$?� ��%���$+� ��

4�������$�/��8/�������)$����$2��%5����)�+��$�4����+����'���$*$�$�.��$�/��

'��)������/���/�������4$�$�$2�>��$��������'��*�*$�,�����������%���)��$��

�$�'�������$,,$)�����'$?�4��)$�$���+����,�,����+����0��'���$*$�$�.��$�

'���'���$2��'��$�$2��'�����������'��,����0������'������

����$��������������%�����)�/''���$��$�/�0$��$�����))$��$2�+���%��������

�$%��%���$%5���%%$+�/������$���$�%�,/�$�.����$%5�+�%�������$��$�������

�$��)$� �� �$44$%���.� �*$���$2�� �$� 2��$�� ���/��+� %5�� )$/�)���� �/���2$��

����,����� $����%/�$�%��$���4��,�������,���$���%�/�$���>�%$� �$4��$�,��

�$�%$����$�$�'��2��$���$��������$��+�������K$�$''$�����������
$)��$�������

8/����� �$)/����� $� %$���$+� '��� �/�)�� ��,'�� )�$� �''��������$� �� �����

��0$����$�.�5������'������/�����������$����$4$%�0$���������'�0$��$�2$���

�� �'�0$� �$� ��2���+� /�$�$00����� %�,�� ����))$�� $�,����$,$� %�'�����$�

�����������������������������������������������������������
"�!�Q ��
���$+�
��������
�



�

� �"#

$��/���$��$� ��2�� 2��$2���� �2����� ��� ���$2$�.� '���/��$2��� 	�� %���$2��

%���$0$��$� �*$���$2�� �$� ���$� �$%�2��$+� ��'$����$� '$?� 4�,$)�$�� �����)���+�

,/��$)�����0$����$+� 5����� �����,$����� ���� ��,'�� /��� %���%�����

�$)$�$�.� ������ 4��0�� ����-���$��+� %5�� 5����� '��22��/��+� $�� ��,'$�

��%���$+� �� �44���/���� /��� ���$�� �$� �)�,*��$�� ���$� �'$���$� 5�����

�����,$������� �����2��������'�����0���/������������$�/��%������/,����

�$�%$���$+�$����������$����/0$��$�����))$��$2��,$)�$��$������$��$)��$��$���

$� �/�$�$�$+� ����� /��� '��%���/���� ���� 1�I��T� ��$� ,�,*�$� �$� ���$�

%�,/�$�.� )���� �$� /��� �$�/�0$���� ����))$��$2�� �%%����*$��+� ,������

'$/������� �$44/�$� �''�$���� $� 4���,��$� �$� ��2��44����,����� ��

%��*$��0$���� 4��0����� ��4$��+� %������$�,����� �� /��� %�����0�� �$44/��+�

����,�����$��&�T���)�$�$,,$)���$�4$�$''$�$��$�$����'������$����,$%$�$��

���� ������� �$� ��2���+�,������ '��� �/��$� )�$� ����$� =� '$/������� �$44/��� ���

'���$%��������%��*$��0$���+��'�����$��%���$0$��$��$���2��44����,������

���	-/��$,�� %���)��$�� $��$2$�/���� %�,'������ /��� ���$�� �$� %�,/�$�.�

��0$����$�'������8/��$�����$�/�0$�����*$���$2������%���$�/$�%��4��������$�

�$�%5$�� ��%$����� �$� �$� �$4��$�%�� �)�$� $���$��$+� �)�$� �)$0$��$+� �$�

%�'�2���$��$����$�����)����$��J�����$��2����$�4$������-$��������$�8/���$�

)�/''$�/���8/����%���$��������$���/����$�/�$2���$���$��

�

�

��������
��� �
����
����������#�������

�

���	-���/���� �$�/�0$���� ��%$���� �� ��)$����$2�� �����,$��� /�� �$�%5$��

��,'���,�))$����'���)�$�$,,$)���$��$�'�����������������#����)�����������

'���$*$�$�.��$��%%���������$�������/���/���$�����,$�$���%$��$����*$���$2$��

	-���/�����44�/�����$�$,,$)���$���$����2$0$�'������0���$,����%��������

�$� �44��,���� ��� ,��%��0�� �$� '��$�$%5�� $�� )����� �$� %�)�$���� ���

%�,'����$�.���2���$�.�����4���,���+��$���/��2������������-�%%�)�$��0�+�

�$���/�8/���������-�%%�����������$������������-$���)��0$������%$�����

������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
"� �K���'��+�������� �
���������
������ �����
����"���
��
��� �
���������+��'��%$��+�'��&��



�

� �1�

�������'/�����$�2$�����%%/'�0$�����+�8/�����'�������5�����/���*�����

%�������/��$�.��/��,��%����������2���+�4�������%5��4�2��$�%���$�/�0$��$�

�$� �4�/���,����+� �$� *����� ����$*/0$���+� �$� $�8/����,����� �$���%����

�$2����� ��)�$� $���$��$� �+� ���$�$��/��+� $���$�����$�� </����� '��%��$��.�

�����$���� 5�+� ���/���,����+� �$%��/��� �/���� �$,���$���� �*$���$2�� $��

8/����� $,'��$�%�� �-�%%����� ��� ,��%���� %5�+� $�� ����$�+� =�

'��2������,�������$������������'��'�$��."�3���

����������+� '��� 8/����� �$)/����� �-����))$�+� '���� ��� '���$%������

%���$0$���� $���$���+� %��� /�� ,��%���� ������ ��%�0$��$� �$44$%$��� '��� ���

4��%����*��$��$�'�'���0$���+������,��%��0���$����/��/����$��%%�)�$��0��

���)/�����������$)��0���$�'��������������%���/��'��)�����,$)�����$��

���� ��%���� ���*$���� 
�%/�$� ���$� ��%%���$� ���� ����� ����$�� %��4��,����

%5��$���$��)$���*$���$2��%��'$�%��$����T�������4�,$)�$��$���$���+�,������

'��� )�$� $,,$)���$� G4�,$)�$�� �� �$�)��$H� ��� '��%���/���� �$2����� ����

1�T"�#���

���
�8/����������%����$*/$�%����%5��$��'��)$/�$0$���$�����$�'��'�$����$��

������ %5�� %��� ��� �$44$%���.� %�,/�$� �)�$� ����$� %$����$�$� $���$��$� %5��

%��%���� /��� %���� $�� �44$���� ���� �$*���� ,��%���+� )�$� $,,$)���$� �$�

���2��������2���4����$�%���$�%�����%/���'���$%����$�6�$�%�$,$��0$��$:��

�� '��'�$����$� �$� %���� ���� �44$������ �� �����$��$� G�'�%$�� ��� �$� %������ ��

$���,$%$H����0�����)/����)����0$�>�����44$�������������$��$�'����������

/��%������))$/��$2����$��,���$�%��$+�'���$���)����$+���%5�������$'/����$�

/��� 4$��$/��$���� *��%��$�>� �'�%$�� ������ )����$� %$��.+� �-�44$���� =� $��

)������ �����$���$�� �� $�� ����� �� ��%5�� ��� �)��0$�� $,,�*$�$��$�

�''��4$������ ������ �$�/�0$���� %5$������� �'����� ��,,�� �$��2���$� ��

�$����� �$� ,��$�0$���� '��� ��� �$%��%�� �$� /�� �''����,����� %5�� ,�$� �$�

,����$��$00��.�����)�����$���$���%$,����+���%5��'��0$���+���������,,��

�$%�2/���� ���� 
���"���+� /�-����%$�0$���� %5�� �$� �%%/'�� �$� �$%��%��

�%���,$%�I��%$���� ���� �������� �'�%$4$%�� ����-$,,$)��0$���+� $��

�����������������������������������������������������������
"�3�
�����$����$+�$���
������������������+�����/�$��+�B���)��+�"������
"�#����$��������$���+�$������B����������
����*����#��
��+�K���%�
�)��$+��$����+��##�+�'��!1��



�

� �1�

'����'������ 4��� '��'�$����$�5�� %������ ��,�$� ������ ��)���� ���� �%�$���+�

��)�$� �%%���$� ��%$�$� G'����,,�� ��%5�� %5$�,����� /�� %�������H� %5��5��

��)���,������� �-��$����0�� �$� /�� %����� �))$/��$2�+� ���$������� /��

%������6�'�%$���:�'���$,,$)���$+�%������%5���$�%����%��������$���$2�����

����%�������$*���+���'��2�%��$��,���$�%��$��-��'/��$������$�'$?���*��$�

����,��%��������/���%�������)�$����/��$��$2���$�,��$���$�%����$��$*��$�

$��������)����$�%$��.�G%5�+���%��������$������$%���I��$���%������8/$�$�$�

����� �� ����$���$�� I� ���� "��"� ����� '�������� �$�2$���$�,��$�,����� ����

&�T� �$�'����� ���-����� '��%������H+� �$�/���� %5�� ���/��,����� )�$� �44$��$�

'$?� %��$� '��� )�$� $,,$)���$� �$)/������� �$����+� ��)/$��� �� �/���� ���

��,�� �� ��� (���0$�� �� ����2�� �''�$����� ���� 4���� /�� ���,'$��� /��

$,,$)��������$����������,��%5��2��������44$������'����7���'�������/��

4�,$)�$�� /�� �''����,����� �$� !��,8� $�� /��� 0���� $����,��$�+� �$�/����

����%��������'��$4��$�+���2�.�'�)����/�����,,��,���$�������$�4��$����

�� ! #+3�� �/��� G%5�� �'����� �/'���� �-�,,������� ���� �/�� �����$�H>� ���

4����� %$����$��� $���$���� ��� *������**���� &!�+���� ��� $,,$)����� ��


�'��$� ��2�.� $�2�%�� '�)���� &"!+3���/��� G��0$%57��!&+��� $�� 8/�����

$���$���H"�����

���	�� ��))�� ��� �3#� ���� "��"+� ��� %��$������� ��))�� 6B���$IK$�$:+�

$���������� '�%�� '$?� �$� �/�� ���$� ������+� ����5�� �$,��$���� �� 8/�����

�$�/�0$���+� ��0$+� '��� %���$� 2���$+� %����$*/$�%�� ��� ��$,������� �-�����

����-��%�/�$�����*$���$2��������$�4���$��))��2�����/����������%���$0$��$�

����-$,,$)����� ���0�� �$,���� 6%��%��,���:+� ��� 5�� /�� �44�����

)�����������$��
���������������-�������

������ ���,'$�� ��,'����� ���� '�$,�� �44����� =� ��''���������� ������

�$,$��0$��$������'���$*$�$�.+�'�����������$���+��$��%%�������)�$�����))$��$�

��$�$0$�� ���$���0$���� '/**�$%��� 	-���$%���� ��� ���� ����+� ������ �/��

4��,/��0$���� ��$)$���$�+� '��2���2�� %5�� )�$� �����$��$� ��)����,�����

��))$������$�4��������8/$'����$��$�%$����$�$�$���$��$�'������'���$*$�$�.��$�

'����%$'���� ����� ����)��0$���� �$� ����))$� �$� ��$�$0$�� �$� ���$���0��

�����������������������������������������������������������
"���
���"���+�����
�
�������������+���'��$*$����/��5��'�99@@@�����"���������



�

� �1"

'/**�$%��� </����� �8/$'���0$���� =� ������ ������0$��,����� �*��)����

��������))��6B���$IK$�$:�G�����" +�%�,,���+��������+����1���/)�$��"��"+�

����3#H�%5��5��,��$4$%����$������������-��������'��2����������%�,,��!�

%5�� )�$� �����$��$� �$�����$� �$� %����� �$� ��))$����� �� )�$� �����$��$�

��)����,����� ��))$������$� $�� '�������� �$� '��,����� �$� ��))$����� ���

��,���� �/�� ���$� �� %5�� ����%$����� /��� ��)������ ���$2$�.� �$� ��2����

�/*���$����� �� �$� ��2���� �/����,�+� 5����� �$�$���� �$� �%%�����+� $��

%���$0$��$� �$� '��$�.� %��� $� %$����$�$� $���$��$+� �)�$� ����))$� �$� ��$�$0$��

���$���0$���� '/**�$%��� ��,�� �$��� %5�� '/A� �%%������ �$� *���$� '���

�-����)��0$���� �$� ����))$� �$� ������� ����� ��� �����$���� %5�� �$� 4�����

�$,����$� G%��� ��� '�������0$���� �$� �/��$� $� ��%/,���$� �$%5$���$H� �$� ����

�2����� *$��)��X"��� 6�����)/����,����� ��� '��%���/���� �$� $,,$)���$�

%5�� /�/4�/$�%���� �$� %���� '�'����$� �$� �22$%$��� ����� 0���:"�"��

$�� 8/����� )�$� �����$��$� �$�����$� �$� %����� �$� ��))$����� G��'�����,�����

�$�%$'�$����� ���-����� #+� ����� �/��-$,,$)��0$���H� ���� �����,���$+�,�+�

��'����/����'��%57�)�$������$��$�$��'���������$�/����)������'��,������$�

��))$����� '��� ��2���� ����� �$� 4����� 4����,����� ����%����$� ������

'���$*$�$�.� �$� '����%$'���� ���-����)��0$���� �$� ����))$+� %�,��

4��8/����,�����2$������)���������

�����������������2$�.�$������������������))��6B���$IK$�$:���%5���,��)��

������ �������� ������ ���,�� ��'��� %$����+� =� %5�� 5����� $�� �$�$���� �$�

�%%�������)�$�����))$��$���$�$0$�����$���0$����'/**�$%����%�/�$2�,�����

)�$� �����$��$� ��)����,����� ��))$������$� %5�� ����%$����� /��� ��)������

���$2$�.� �$� ��2���� �/*���$����� �� �$� ��2���� �/����,�+� %��� �2$������

��%�/�$���� '�������� ��)�$� $�%�$��$� ����� �$���� �$� %����%�,������ </�����

���,�+� $����'������� ����� �������+� '����**��8/$��$� �$)�$4$%���� %5�� �����

%5$� ���� ��2������� �� ���� %5$� =� $�� /��� 4���� �$� �$��%%/'�0$���+� '/A�

�44���$2�,���������������-����)��0$�����$�/������))$������8/���������

=� �/���� '��%57� $�� '�))$�� =� %5�� ��� ���,�� '��2���� %5�� 8/�����

�����������������������������������������������������������
"���
��B�����$�$+�
��B����+�����#�
�����������+�K������$�K�$��$���$����+�����2�+�"��"+�'��!1��
"�"�
���"���+�+���������
�
��	���
��������
�������������7
����L���+���'��$*$����/�@@@������$��$$�$���$��$���



�

� �11

�8/$'���0$���� '����� �$%����%���$� ����� ��$� %��4����$� �$� %5$� 5�� /��

'��,����� �$� ��))$����� �$� �/����� ��,���� *$������+� ,������ ������

'���$%�� ��%%��4���� $�%���$�������,�))$���'�������$�%��$�%��� ��2������$�

'��22$��$��$�'��,������$��/��������/���������$�$��/���$�4��$�����$�4���$+�

��%5��2�����������%/�����%5���/��$�$�������)����$00��$�5����������/���

/��'����$�/������+������))��6B���$IK$�$:�5�����*$�$���$��'�$�%$'$��'���

%/$� $��%����������$���))$����� G8/$��$� $��'��,������$� ��))$����H���2��

�2�����/�����%���$�'�����������%����������$���2�������8/�����=�����,'��

�����,$����+� %��� ��� %����)/��0�� %5�� �-������$���� '���$%�,�����

)������$00���� ��$� %�������$� �$� ��2���� �� ��,'�� �����,$����� '���/%��

'��2������,����� '��,���$� �$� ��))$����� �$� �/����� ���/���+� �� '�$��$�

��%�/�$� ������ '���$*$�$�.� �$� $����$,����� ������ )���/����$����

��� ����� '��2$�$���� '/A� �$�%������� %5�� ,���$� /44$%$� %�,/���$�

%�,'�����$� �'��$��� /��� ������ �$� ��%����0�� ������ )���/����$��

�'�%$4$%��'����-����)��0$������)�$�����))$��)�$������$��$��$��%%/'��$���

%�,/�8/����8/���$�%5��5������$���2����$��'��,������$���))$�����'���

'��$��$�$�4��$��$����/�����$���$�'/A+��$�%����)/��0�+�*���%�,'��������

%5�+� $�� 8/����� �$�/�0$���+� )�$� /44$%$� %�,/���$+� %5�� ��2��**����

����)����� )�$� ����))$+� �2������ */��� )$�%�� ���� �$�'������� %5�� ���

�����$���� ���� �$������ ��$� '���,���$� '��2$��$� ������ ��))�"�1���

��**$�,���/���2$��%���$�������%5��$����)$,���$���))$��������$���2����

��$� ��2������$� $,,$)���$� ��)����,����� ��))$������$+� ������ %5�� ������

��))�� 6B���$IK$�$:+� =� ��)������ ��%5�� ������ ���2��0$����

�������0$������ ����-��	� G��)��$00�0$���� �������0$������ ����	�2���H�

�/$� ��2������$� ,$)����$� ��� ��1� ���� �# &� ����� 8/���� �-����$�� 5�� �����

����$����4$�������#3!��	-������" �%�,,���_�'��2�����

�

���,����$���$��$%/��00����%$���+�$���2������$�,$)����$���$�,�,*�$������������4�,$)�$��

*���4$%$���+��������������$�$,'$�)�+�����-/)/�)�$��0���$�������,�����%���$���0$����$�

�����������������������������������������������������������
"�1����)���������$�)����+�
��#����
������� �
����#����
���������������
���������������������;����
�#������+�����
"�9�"9"���+���'��$*$����/��5��'�99@@@�,���$�)'�����)��



�

� �1�

������ ,$�/��� $�� %/$� �$�'������� ����� %���$0$��$� �$%5$����� ������ ��)$���0$����

�''�$%�*$���$��8/�������������$��������$�*$�������$���,/��$�������$��''�$%�*$�$��

�

���</����� %��2��0$���� ���*$�$�%�� $�� '�$�%$'$�� �$� '$���� '��$�.� �$�

������,��������$��''���/�$�.���%5��'���8/���%5���$)/����� �-�%%�����$�

���2$0$� �$� �$%/��00�� ��%$���� �� �)�$� ����))$+� ���� ��2������$� $,,$)���$�

��)����,����� ��))$������$� �� ��2������$� ��0$����$�� </����� ���� =� /��

'�$�%$'$�� '/��,����� ��������� ��� �**�$)�� $�� ��)$�������� $���$���� ��

�$�'�������8/�������)�������

����$� %����)/��0�+� ��� ��))�� ��0$������ %5�� 4����� $�� %��������� %���

8/����� '�$�%$'$�� %���$��� �����$2�� ����� %���$0$���� ������ �����$���+�

2$�����**�� ��� ������� ����$�/0$���� G%��� �����$2�� '���$*$�$�.� �$�

�����'����� ����� ������ ����$�/0$������ ��� 8/���$���� �$� ��)$��$,$�.�

�����$2�� ����� ���,�� ������H�� $�4���$+� �-���� ��+� %�,,�� "+� '��2����

��'�����,�����%5�� ���%���$0$����)$/�$�$%�������������$����=� ��)������

������ ��))�� ��0$������ ,�� ���*$�$�%�� ��%5�� %5�� ����� ��**�� �������

%��4��,�� ����� ���,�� ��� �$� �������$� $������0$����$� %/$� �-����$�� 5��

����$��+�����%/$��$������������2��0$������	���'���%$������J�%5$����%5��

��� �/�2�� %���$0$��$� $,'����� ������ 6B���$IK$�$:� %�,'������� /��

�2$������ %��������� %��� $�� '�$�%$'$�� �$� '$���� '��$�.� �$� ������,����� �$�

%/$� ��������2��0$���+� �� %$A� ��'����/���� �����$2�,����� ����� 8/���$����

����-����)��0$�����$�����))$��$���$�$0$�����$���0$����'/**�$%��'��%57+�

%�,�� �$� =� '�$,�� ����$00���+� ��� �����$0$���� �$� ���$� �$�����$� �$� %����� �$�

��))$��������$����$��$�����$��$�'��,������$���))$�������,����*$������+�

%�,'����� /��� �$44����0$�0$���� ���� $,,$)���$� ��)����,�����

��))$������$� '��� ,��$2$� �$� ��2����� ��� ������ '�����+� ��,*���

'�����,����� $�� %��������� %��� ��� ������� ���2��0$���� �'������ /���

�$��$�0$��������$,,$)���$��$����$��
+�$��'���������$�%������$���))$�����

�� %��� ��))$����� *$������+� �� $,,$)���$� �$� ���$�� B+� $�� '�������� �$�

'��,����� �$� ��))$����� �$� /�� ����� ��,���� �$� �/�� ���$+� '��� $�� �����



�

� �1&

4�����%5�����������2�������%���%�������$��� ���,$�����%���%�������$��$�

��2����$����$�������

������ ������ ���$%���� ������ ��))�� �3#� ���� "��"� %5�� 4�� ��'������

�$4��$,��������-����))$��������2���������L���%�,/�$���$��=��-�����&�*$�+�

�������H�$��8/����'��2����%5�+����,�,�������������$'/�������%����������$�

��))$����+� $����������$� ��2������2�����/,���$� �-�������$�)�����$��� ���

�$�'��$*$�$�.��$�/������))$��:%5���$����$���$�'���,���$�,$�$,$�'��2$��$�

������ ��))�� '��� )�$� ����))$� �$� ��$�$0$�� ���$���0$���� '/**�$%�:�� 	��

�$�'��$0$����$��8/���$���+����%������$���$�8/�����������������'����**��

�''��$��+� ���� $,'���� ��� ������� �$� ��2���� �$� ���$%/����� /���

�$���,�0$�������-$,,$)��������I���/���+�,������$*/$�%��������������$��

��,'�$%�� ������ �$� 4���� /��� �$%5$���0$���� ������ ��� '��'�$��

���'����*$�$�.+��22�����$��$%5$������%5��5��2��$4$%��������$�'��$*$�$�.�

�$�/������))$�����'���������-$,,$)����>�����'����**���2���������/���

�$� �$2����� '��%57� ���� ��$���� /��� ���,�� %5�� $,'��)�� ��� ������� �$�

��2���� �$� 4���$��� ��� ��2�������� /�� ����))$�+� ������ ����� ����$*/0$����

%�������/���>� %$A+� ���� �-�����+� %���$�/$��**�� /��� �$�%�$,$��0$���� ����

��2������$�$,,$)���$���$���$��$���

����$� %����)/��0�+� $�� %��%����� �%%���� %5�� )�$� $,,$)���$� �$� ��2����

'��%/����� /�� ����))$�� �� %5�� %�,/�8/�� ��� ��� ��2���� '�)���� �����

G���2��%5��$����������$���2����'�����$�������������$/����$��2���/��,�����

$����%�������'���4���$���/���)����0$�H+������'��2$����)����0$�����'�����

������������$���2�����������$�'��$*$�$�.��$�/������))$����''��������/���

������ �$� �$%5$���0$���� ����� ���� ������� �$� ��2���� ������ ��� '��'�$��

���'����*$�$�.+� %$�%�� �-�22��/��� 2��$4$%�� �/���� �$�'��$*$�$�.� ���/����

G����,�,����� $�� %/$� 2$���� 4����� ��� �$%5$���0$���H� �$� /�� ����))$�+� $��

%5�� ���� $,'�$%�� �44����� %5�� ����� �$�� ������ '��%/����� �$�����,����� ��

$��$�����,����� ���� ������� �$� ��2���� �7� %5�� �)�$� '�)5��.� $�� �����$2��

%����"������������.+��������%$�4�����$���/�2��'��*��,��������6$����$�.:�

�����������������������������������������������������������
"������)���������$�)����+�
��������
�



�

� �1!

��)�$� ����))$+� %5�� 2����,�� '$?� �����+� �/���� %�,*$�� '��%57� ��%5��

'��%������,����� ����� ��))��B���$IK$�$� ���� '��2$���� ��� 2��$4$%�� ������

�$�'��$*$�$�.� �$� /�� ����))$�� '��� �/���$00���� �-$�)������ ����-������+�

%�,��'/���'����$���2����$��'��,������$���))$�������

������� 8/����� %��%����� ��� 4��,�� ��%$��� '��� ��%/,������� ���

�$�'��$*$�$�.� �$� /�� ����))$�+� =� *���� '��%$����� %5�� ����� ����

��%�����$�,����� %���$�'����� ��� /�� %��������� �$� ��%�0$���+� ,�� '/A�

���������%5����%/,�������%���,����$�.��$44�����$�%5���$�����%�����$�

��)/$�����

   Dichiarazione di ospitalità�� ��� �$%5$���0$���+� 4$�,����

����-$����������+� ��2�� ������� �%%�,'�)����� ������ 4���%�'$�� ����

%����������$���%�0$������)$���������$��������������'�������%5����'$������

�����$����/�$��,����������4���%�'$�������/����%/,������$�$����$�.�����

���Comodato o “prestito” dell’alloggio�� 2�� 4����� �$�/������ %���

�$%5$���0$���� �%�$���� �� $������ ��%/,����0$���� %5�� �$,����$� 8/��� =�

�-����))$�����%$����$��/���)���/$�������%5���$��������'����������'�����+�

'������,'$��%���/���4���%�'$������%����������$���%�0$������)$���������

��,'���%������4���%�'$��������%/,������$�$����$�.������$%5$���������

   Contratto di locazione�� =� �-$'����$� 6���,���:� %5�� %���$���� ������

��$'/��� �$� /�� %��������� �$� �44$���� $��������� �$�����,����� ��� ��2��������

$,,$)������ 
��/���,����+� $�� 8/����� %���� ��� ����$� ���� ��''����� �$�

��2��������'�������$�4�/��0����$��)��$,���������-����))$�+���,,����

8/����� 8/����� =� ������ ����)����� ���� ������� �$� ��2���>� 8/$��$+� ���

$����2$����$���$%��0$�,�������2$����������$,$��$��$�$����2������������=�

�**�$)���� �� ���%$���� �-����))$��� ��� ������� '�������� %5�� �-��$����0��

)$/�$�$%���$�/��%����������$���%�0$����'/A���������$,����������%5�����

����%-=�/��4��,����%����������%�$���+�$��8/�����*������$,��������%5���$�

'�)��/��%������,���$���G��%5��,��$������������/����/����*/����'�)�H�

'��%57��$�%������$��-��$����0���$�/��%����������$���%�0$������

   Contratto ad uso foresteria�� $��8/�����%����=�$����������$���2����

%5�� ��$'/��� $�� '��'�$�� $�� %��������� �$� ��%�0$���� ,�� �$� ������� �$� /���



�

� �1 

���/0$���� $,'��'�$�� ��%5�� ��� '���$%���� $��,���$� %��$�� ��4���$+� 8/�����

�$'���$�%���������'/A��������2��$��,������''�$%�������������%����$��%/$�

2$� �$�� /�� /�$�$00�� �44���$2�,����� �����$���$�� ����-�*$��0$���� ��� '�����

������ '������� %5�� 2$� ��2���� �*$����� ��� =� 8/$��$� %������$�� �����

�$�'��$0$��$� �$� ��))�� $��,����$�� �$� ��%�0$����� J� *���� '��%$����� %5��

����� %���$0$��$� %�������/��$� %������$�� ����� ��))�+� �22���� �-/���

�����$���$������N$,,�*$��+��$�����$�/$�%����'�����))���/��,��$%�,�����

��� %���$0$��$� '��2$���� ������ �$�%$'�$��� )�������� ������ ��%�0$��$�� ���

'���$%�+�/��%������������/���4�������$��'���/���$'�������������$����%5��

���� =� 6�$� '����))$�:�,�� %5��5�� $�2�%�� /��� ����� �$� ��2���� ���*$���

�$�/���� ��$'/����� $�� 4����� ����� ��))�� �� 8/$��$� �$� ����4��,��

�/��,��$%�,����� $�� /�� ���,���� %��������� �$� ��%�0$���� ������ �/�����

,$�$,�� �$� 8/������ ���$�� ��� '���$%�+� $�� ��2�������� '/A� '���������� �$�

�*$����� ��)$��$,�,����� �-$,,�*$��� ��%5�� ������ ��� �%����0��

��$)$���$�,�����4$������G�$����$���/������H�'��%57���������,$�������=�

2��$�����

   Centro di accoglienza���$��������������'��,����0��$��/��%�������$�

�%%�)�$��0�� %��� ��� �$�'��$*$�$�.� �$� /�� '����� �����+� ����� %���$0$��$�

���*$�$������� ��)���,����������� �$�)���� ���/��/��� G%5��'��������������

,������$2�������������H���

   Retribuzione in natura�� �$� ������� �$� /��� $'����$� '���$%������� ���

��������$���2����'/A���$'/�����/��%����������$���2����$��$2$�/����%���

/�� ��2�������� ,$)������ '���/����� %5�� /��� '����� ������ ����$*/0$����

2���.����)������0$%57�$���������$�����/��+�������4��,���$�)��$,�����

�$� /�� ����))$�� �� '����� ������ ����-�,*$��� �$� /�� ����))$�� %������$2��

����)�������'$?��$'������$�����8/�����%���������$�5��/��2����%���������

�$���%�0$�����7�/�����,'�$%����'$���$�.+�,���$������������N�/�$�$00���$�/��

����))$��%5��2$����%���$�������%�,��/���2������'��'�$������$*/0$����

$�����/����������,�����%����)�������,�����$,�����$�������������''�����

�$� ��2����� �%%�� /�� ���,'$�� '���$%�� �����$2�� ����� 6����$*/0$���� $��

���/��:�����/����2���������$%�2��$��*/����'�)���������/������,���+�$��



�

� �13

������� �$� ��2���� '/A� ��$'/����� %��� $�� ,����$,�� /�� %���������

$���)���$2�� �$� ��2���� �2�� �$� ���*$�$�%�� %5�� ��� ����$*/0$���� 2$����

$��$%���� ����-�,,������� ������� ������ */���� '�)�� G��%5�� �$� 4$�$� ����

%��%��������������$*/0$��$��%%�����$�+�%�,���������$%��$,�+����4��$�+�$��

��K���+��%%�+����%57��$�%����$*/�$����$���/���4$�%��$H+�'��%$������'��A�

%5�� 3����/��� 2�������� %���$�'���$� $�� ������� �$8/$��� �� $�� ������ ������

4��,���$�����$*/0$����$�����/���,��$�����)��$,������$�/������))$����

�$� /��� '����� �$� ����� ��� %���$2$����� %��� ����$� %����)5$� G$�� ������� �$�

��2��������'���.���%/�������������$*/0$�������/��'$�%$,�������8/$��$�

$�� 2������ ��%��$2�� ��2�.� ������� �44���$2�,����� %���$�'�������+� ����

'�������$� %���$������� ��)$��$,�� �-$,'��$0$���� �$� /�� 2������

��*$����$�H��

����$� ��2�� '��A� '��%$����� %5�� �-�2$������ %�����$��$%�0$���� ������

���/0$�����''����'���'�������=�8/�����%5�+�����%�����$��$���/0$��������

��''����� �$� ��2���+� ���,$��� $,,��$���,����� ��%5�� $�� )��$,�����

����-����))$������2$�,����� $,,�)$�����%����'����**���/%%����������

%���� $�� %/$� �-����))$�� ���� 4����� /�$�$00���� ��� �$�)��$� ��2������$� $��

4��,�� %������$2�+� ,�� ��%5�� ��$� �$�'���$2$� 4�,$�$��$�� �$� '����**����
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